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No. | B BF4 g D E pEA=t aE [=Hiva
14|18 |Fih 25k Wing% 2% £RG 5.950 4.050 | 0.000 10.000 1
10[EE (L ™A Wing% 2% £RG 5.450 4.350 | 0.000 9.800 2
11|E n—nr 7Yr=zx|Kaing.RG 5.150 4.600 | 0.000 9.750 3
72 R E Kaing.RG 5.100 4.000 | 0.000 9.100 4
2|R® |BR BX Wing% 2% £RG 5.150 3.800 1 0.200 8.750 5
12|38 | &% A STELLA 4.300 3.900 | 0.000 8.200 6
6|=E ¥ IS5 Wing% 2% £RG 4.300 3.700 1 0.000 8.000 7
AlFTRE [/IAR AR L RT A ) AR, 4.600 3.200 1 0.000 7.800 8
1F8E [FAx &R LAYH=ILT AT 4 ) AR 3.900 3.650 | 0.000 7.550 9
3|12l |ZEE BE Kaing.RG 2.450 2.850 1 0.000 5.300 | 10
13|%8FF |%H E5R TR 2.700 1.750 | 0.000 44501 11
9|faH |FE R BT RER 1.900 1.300 | 0.000 3.200 | 12
SlfEH |ER AKX BT RER 1.600 0.900 | 0.000 2500 13
slIre |&B e | orverrrorans HiE
Amy: EAEBR : n—7

No.| B BFZ g D E pEA=t aF [=tiva
10| K% [hs IR Wing£2% &RG 6.150 4.800 | 0.000 10.950 1
11|& n—nr 7Yrxzx|Kaing.RG 4.900 4.700 | 0.000 9.600 2
7= i e Kaing.RG 5.800 3.200 | 0.000 9.000 3
2IR® |BR EX Wing£2% &RG 4.600 4.050 | 0.000 8.650 4
14| &% (F £ Wing% 2% &£RG 5.200 3.200 1 0.200 8.200 5
1178 1B Xx ERn ARSI AT AT A ) AR 4.400 3.700 | 0.000 8.100 6
AlFTRE [/IAR ARSI AT AT A ) AR 4.800 3.250 1 0.000 8.050 7
12|38 | &% #RA STELLA 3.950 2.600 1 0.100 6.450 8
6|RE [WE H& Wing£2% &RG 2.500 2.300 1 0.200 4.600 9
9|faH |FE R TR 2.450 1.000 | 0.000 3.450 | 10
13|18+ |#%H E7R TR 2.400 0.750 |1 0.000 3.150 | 11
SlfEH |ER AKX TR 1.550 1.050 | 0.000 2.600 | 12
3B |EH BE Kaing.RG 0.800 0.500 | 0.000 1.300 | 13
8|1FE |HE HT|HE LA SRS LF AT Ay AR =
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No. [B4| EFH Bl Vo gzl 8—7" |NIEfL = JIE{iz
10|[E¥Ha WA |[WingEob ERG 9.800 | 2 10.950 | 1 20.750 | 1
11|Z1l|r-n> 7v>= |Kaing.RG 9.750 | 3 9.600 | 2 19.350 | 2
4|EFE L 2/ [WingEob ERG 10.000 | 1 8.200| 5 18.200 | 3
7|ELAE XE |Kaing.RG 9.100| 4 9.000 | 3 18.100 | 4
2 |IEHER #\K [WngE2bERG 8.750 | 5 8.650 | 4 17.400 | 5
4 [BETR[R HEF [conviraroans 7.800| 8 8.050 | 7 15.850 | 6
1 FRIERA &I |oorveraroras 7.550 | 9 8.100| 6 15.650 | 7
12| F8| AR #BA |STELLA 8.200| 6 6.450 | 8 14.650 | 8
6 |EFA% B [WingEob ERG 8.000 | 7 4.600| 9 12.600 | 9
LB@HZHE EiR |FEIRER 4.450 | 11 3.150 | 11 7.600 | 10
9 [BHFE R |WHIPER 3.200 | 12 3.450 | 10 6.650 | 11
3|2 WL=EA BA |Kaing.RG 5.300 | 10 1.300 | 13 6.600 | 12
5 [@BHEN BX |[8IFFER 2.500 | 13 2.600 | 12 5.100 | 13
8 |FRIER |E |vorverarorans T
N ;%;
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No | B | EFEH IR D E S a3 | IER
8|FTE | KIE @0 LAY R=SLF AT 7 3B 5.450 6.000 | 0.000 11.450 1
blf@H |+ &R HERNTEERR 4.950 5.300 | 0.000 10.250 2
AFTR | E LA SR SLF ATy 7 3B 3.200 4.100 | 0.000 7.300 3
3|@F |EH D HEEMTaEER 3.250 2.800 [ 0.000 6.050 4
21Fm5 | =M R STELLA 1.900 3.550 [ 0.000 5.450 5
148+ () = HERTaEER 2.500 2.900 [ 0.200 5.200 6
UENREE BiR EER 1.300 1.600 | 0.000 2.900 7
6| RE [T A% RBHHESK 1.100 0.500 | 0.000 1.600 8

=ROE BAEBN: 777

N IR D E 3B a3 | IER
8|FTE | KIE @0 LAY SLF AT A 5.900 6.400 | 0.000 12.300 1
AFTE DEEE 3E VARG LF AT A ) 3K 4.700 4.950 | 0.000 9.650 2
blfaH |+ & HERNTEEIR 4.600 4.000 | 0.000 8.600 3
21308 |EM R STELLA 2.100 3.350 | 0.000 5.450 4
3@H |&F FhiC BERNTEEFR 2.800 2.600 1 0.000 5.400 5
1&g+ |l = RERNEEFR 2.700 2.65010.100 5.250 6
6| RE X A% RHFESK 1.800 3.350 1 0.000 5.150 7
72l |fRE =EiR EER 1.650 1.600 | 0.000 3.250 8
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No. [ B EFH i@ n—> |6z 277 |IBfz = [[=Kiva
8 |F8 [KIE Hly |-orserarorann| 11450 | 1 12.300 23.750| 1
5 |58 |PrE M [Rysiissen 10.250 | 2 8.600 18.850 | 2
4 1FR [EBE B |orraroras 7.300| 3 9.650 16.950 [ 3
3|EH [EH Hi |Resissen 6.050 | 4 5.400 11.450| 4
2 |#R |FEM #EE [STELLA 5.450| 5 5.450 10.900| 5
1|EH el B |(Mesiissen 5.200| 6 5.250 10450 6
6 |RE [XF A% [RFESK 1.600| 8 5.150 6.750 | 7
7|2 [BE ER [FrEeR 2.900 | 7 3.250 6.150 | 8
e jrf”
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